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ORANEA 1,831,000& 56X 102,536
o=l 8,000 x56H x25& 11,200
O=A2 & xt 5,282
—ZHASE A 286,000& x1CH*128 3,432
— SHEAD 150,000 x1CH 123 1,800
Ogx2d=g
(30,000 *1H *102! )+(60,0002 *1.3H *114) 9,192
02 =224l 248,364 248,364
O&II3 77,400
— B4 3,000,000& x12& 36,000
l=Ra DNES 125,000 * 1004 & 12 15,000
—EAdE A 200,000& *110H 2128 26,400
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—-RaPAEN
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202 O4dl 100,800 114,240 A 13,440
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O2LH o HI 100,000& 56 H » 12& 67,200
O &2 ¢ bl 75,0003 x56H «8L 33,600
203 R = 8,208 8,208 0
02 &t 1,848 1,848 0
OF& 33,000 x56H 1,848
04 2NH2 6,360 6,360 0
OfAM 530,000& 122 6,360
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